SUMMATIVE ASSESSMENT —I (2011)
Sepfere oie —| 400036
MATHEMATICS / 7Tfora

Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfePpad 3w : 90

General Instructions:

(i)
(i)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.
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Section-A

Question numbers 1 to 8 carry one mark each. For each question, four alternative choices

have been provided of which only one is correct. You have to select the correct choice.
1.  Which of the following numbers is an irrational number ?
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(A) 23 (B)  +/0.09 © 5 (D)
frefafad § 9 =@ 9 sTafts den ® -
(A) 23 (B)  +0.09 Q 5 (D)

One of the factors of (x—1) — (x2 —1)is:

(A) x2-1 (B) x+1 € x-1 (D) x+4

The coefficient of x in the product (x—1) (1 —2x) is:
(A) -3 B) 3 © -2 D) 1
(x—1) (1—2x) % TOFHA H x T T[0T & :

(A) -3 (B) 3 © -2 (D) 1

If 2% + 6x2 + 4x + k is exactly divisible by x + 2, then k is equal to :
(A) -6 B) -7 © -8 (D)
IS (x+2) TGIR 13 + 632 + 4x + k T G-I Fa1fsa Y A k 1AM @

(A) -6 ® -7 © -8 (D)

The value of x in the figure given below is :

5x
4x

(A) 80° (B) 20° (C) 25° (D) 40°

ﬁﬂ%ﬁfﬁ,xaﬂﬂﬂ%:

N w

N w

-10

-10
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4x
< A ) B >
(A) 80° (B) 20° (C) 25°
In AABC, if AB > BC then:

(A) C<A (B) C=A (C) C>A
AABC ¥ afg AB>BC & ol :

(A) C<A  (B) C=A (C) C>A

The perimeter of a triangle is 36 cm and its sides are in the ratioa:b:c = 3:4:5thena, b, c

are respectively :

(A) 9cm,15cm, 12cm (B) 15cm,12cm, 9 cm

(©) 12cm,9cm,15cm (D) 9cm,12cm,15cm

@%[HHWW%@"#THWW@WWa:b:C=3:4:5%,?ﬁa,b,cmz%:

(A) 99, 15 9, 12 |+ (B) 15, 12 &, 9 9+t

(C) 129+, 9 5, 15 |t (D) 94, 12 9+, 15 9+

Area of an equilateral triangle of side ‘a” units can be calculated by using the formula :

@) -y B (s-a)P(s-a)
© s(s — a)2 (D) (s —a)ys(s —a)

e GHeTg s fSrEeht =1 ‘o’ SHE ©, 1 &%a 19 Y | uRenfara foran S wehar € ¢

(A) s2(s — a)2 B) (s-— a)«fsz (s —a)
©) s(s — a)2 (D) (s —a)ys(s—a)

Section-B
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10.

11.

12.

13.

Question numbers 9 to 14 carry two marks each.

Evaluate : «3,(343)_2

3/(343)72 1AM T HIT

Without actual multiplication find the value of (17)3 + (—12)3 + (= 5)3

¥ 1 R fohe for, oR I IS . (17)3+ (- 12)3+ (=5)3

Find the coefficient of x in the expansion of (x + 3)3.

(x+3)3 &% THR H, x 1 ok fed |

In fig. AB||CD||EF. If ZBEF =55 find the value of x and y.

A A A
A C

B x°

A\ 4 A\ 4 A4

F

A A A
A C

In figure, ZB=ZE, BD=CE and £1 = /2. Show that AABC = AAED.

A

B D C E

3MHfd § /B=/E, BD=CE 3R /1=,2%| ¢ fF AABC = AAED.
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OR
In the given figure, if AB || CD, AB intersects PQ at N and QR at O. CD intersects PQ at M and

OR at L, then find the measure of Z/PQR .

A A
B ¢ ¢+D
P N M
88 \,@
L
O
B~ ic
A s A 4
4

3Tfd § AB||CD 81 AB, PQ %I N R @1 QR &1 O W 3R CD, PQ & M W T&QR &I L R
Jia=sg FL &1 /PQR i AT 1T hifeq |

A A
B ¢ ¢+D
P N M
= . Q
L
O
B~ c
A ¢ A 4
L 2

14.  Plot the points on graph
(=2,8),(=17),(0, -3 (13,3 —1)
TR R 1 forgeti o1 frefya i

(=2,8),(=17),0,-3)(1,3), 3 -1

Section-C

Question numbers 15 to 24 carry three marks each.
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15.

16.

17.

18.

19.

Rationalize the denominator of

1
NN

. , 1
1 o = <1 aRugesneor s NN
OR
Prove that
a ! N a ! _ 2b?
al+p! a1 —pt b2 — a2
fas Elﬂ'ﬁrl'q IE3R
a ! a ! 2b2
+ e

al+p?l a7t —pt b2 — a2

Represent J3 on the number line.

3 1 HEA W@ W YRR i |

Factorize, % X y3 +1252°+5 xXyz

TS FRT - 331125234 5z
57 Y Y

OR
Factorize : 2a7—128 a.

UFEUE HIST : 2a7—128 a.

If the polynomial x3+mx2 +nx+6 has x—2 as a factor and leaves remainder 3, when divided
by x —3, find the values of m and n.

Qﬁx—Za@?x3+mx2+nx+6 WQEF"IUH'@?%HW x—3 @a@?x3+mx2+nx+63ba{ OFT <H
T I H 3 T, A m T n % TH TG AT

In the figure given below, [ and m are lines intersecting at A. Pisa

point equidistant from / and m. Prove that AP bisects the angle
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between [ and m.

A
Y

4

m

T < ammefa H, 1 @ | 3R m foig A W ufaeeg st €1 P U fag E, S 19T m | wEgey 7
fag wifSTT T AP Y@neii [ 3R m & s & I 61 Tmigis w7

l

A
Y

e

OR

In figure below, £/B=45°, £ C=55° and bisector of £ A meets BC at a point D. Find the
values of ZADBand ZADC.

A

45° 555
D G

o~

3Mpfa H, L B=45°, L C=55°TqdT LA & HAfGHSI® 1 BC ¥ fog D W faeat 81 £ ADB @en
~/ ADC % | J1d HIfST |

A

45° 555

=
v
@
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20.

21.

22.

In figure, prove that AB||EF.

A B
<t =

t
\ &

145°
300

35° N
C D
FRfd §, g *IfST fF AB||EF.

A B
650

145°
300

35°

0
oy

If AABC is an isosceles triangle with AB=AC, prove that the perpendiculars from the vertices
B and C to their opposite sides are equal.

1S ABC T wmfgarg 51y §, 598 AB=AC %1 fag ifst i fag B 3R C & 9@ yemsiil W
Sl T oSl ot ozl SHE € |

In figure below, ZBCD= ZADCand ZACB= ZBDA. Prove that AD=BCand ZA= ZB.
A B

C D

amRfa #, /BCD= /ADC 3R LACB= /BDA %I fag =it f% AD=BC d=
/A= /BEI
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23.  In the given figure, AB||CD and P is any point. Prove that ZABP + ZBPD + ZCDP = 360°.

A B
P
= D g
3t 7T eTRfd H, AB||CD q& P ®FE forg ¥1 fiag ®IfST f ZABP + ZBPD + ZCDP = 360°.
- B "
P

24.  Find the cost of leveling a ground in the form of a triangle with sides 40 m, 70 m and 90 m at

Rs. 4 per square meter. (Use /5 = 2.24).

T HeM S ot ARG BT THHT YO 40 HiR, 70 Hie q9190 HieX & | THh! THA I H 4
. Tf o HeX 1 W AN I RIS (V5 = 2.24 TN )

Section-D
Question numbers 25 to 34 carry four marks each.

25,
If x=(4— 15 ), find the value of (\/E + %) .
X

oz x=(4— JI5), & (J;+ %j 1 7 T F

OR
Visualise the r representation of 4.67 on the number line upto 4-decimal places.
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26.

27.

28.

29.

30.

31.

ST YT h1 STANT hilch, T&AT W& W 4.67 hl SIHAS & IR LM Teh TIMST |

Rationalize the denominator of

4
2+ 3 + 7

4
m%awwﬁﬁ?ﬂwﬁm|

The polynomial p(x) = x4 —2x3 4+ 3x2 —ax+3a—7 when divided by (x +1) leaves the remainder
19. Find the value of a. Also find the remainder, when p(x) is divided by x + 2.

Wr?{?@q?(p(x)=x4—2x3+3x2—ax+3a—75|13f(x+1)@ AT & W 99 19 =l €, Tl a 1 TH G
HIFTT | ST p(x) T (x +2) 9T =1 ST, T A9 1A IS |

Show that

x> +y3 + 23 —3xyz=%(x+y+z) [(x—y)2+(y—z)2+(z—x)2]

Mg o +y3 + 22 —3xyz=%(x+y+z) [(x—y)2+(y—z)2+(z—x)2]

The polynomials x3+2x2 —5ax—8 and x3+ax2—12x—6 when divided by (x—2) and (x—3)
leave remainder p and q respectively. If q—p =10, find the value of a.

TgUGT 13+ 2x2 — 5ax — 8 3R 13+ ax2 — 12x — 6 T HHA: (x—2) T (x —3) ¥ fafea & W
ATHA FHH: p A1 q W€ 8 &1 ARG q—p=10 3 T a T 7H A FHIfC |

OR
Simplify : (5a+3b)3 — (5a—3b)3

A HIFT 2 (5a+3b)3 — (5a—3b)3
Plot the points A (0, 3), B (5,3), C (4, 0), and D (—1, 0) on the graph paper

Identify the figure ABCD and find whether the point (2, 2) lies inside the figure or not ?
rdra fdenes a1 1 fag A (0,3), B (5,3), C(4,0), a9 D (—1,0) %! eiflad hHIfST | aArpfd

ABCD ! T8I X 8T 7 Fd1sd | 1 fag (2, 2) 3Tepfd & o1 omn H feerq €7

ABCDE is a regular pentagon as shown in the given figure. Find the value of
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Zx, Zyand Zz.
D

A B

ABCDE U& 9 U9 & S| & T eTpfa o <uien W €1 Lx, Ly A £z % A 9@ S|

D

32 Prove that the sum of the angles of a triangle is 180°.

g ifsre f et & =1 31 <RIl <1 91 180° BT § 1

33. Prove that the angles opposite to equal sides of an isosceles triangle are equal. Is the converse
true ?

s gufgerg e § 9um yenetl % 9upE S 9uH 29§ fag e @ s fadm o g
T2

34. ABand CD are respectively the smallest and the longest sides of a
quadrilateral ABCD as shown in given figure. Prove that LA > ZC

and /B> /D.

A/

B G

& T 3Tpfd W, TGS ABCD i Gol S1E1 9ol AB T Goid SISl 9l
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cD €1 fag=mifsufds ~A> 2, C3R /B> /D

A/

D

o~
0
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